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mimimimi -ijh{kd ewY;kadu funsZ'kksa dk ijh{kd ewY;kadu funsZ'kksa dk ijh{kd ewY;kadu funsZ'kksa dk ijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djds mÙkj/;kuiwoZd voyksdu djds mÙkj/;kuiwoZd voyksdu djds mÙkj/;kuiwoZd voyksdu djds mÙkj& & & & iqfLrdkvksa iqfLrdkvksa iqfLrdkvksa iqfLrdkvksa 
dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fd;k gS rks mlds dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fd;k gS rks mlds dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fd;k gS rks mlds dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fd;k gS rks mlds 
iw.kZ vad nsaaAiw.kZ vad nsaaAiw.kZ vad nsaaAiw.kZ vad nsaaA        
General Instructions :  

 (i) Examiners are advised to go through the 
general as well as specific instructions 
before taking up evaluation of the answer-
books. 

 (ii) Instructions given in the marking scheme are 
to be followed strictly so that there may be 
uniformity in evaluation. 

 (iii) Mistakes in the answers are to be 
underlined or encircled. 

 (iv) Examiners need not hesitate in awarding full 
marks to the examinee if the answer/is/are 
absolutely correct. 

 (v) Examiners are requested to ensure that 
every answer is seriously and honestly gone 
through before it is awarded mark/s. It will 
ensure the authenticity as their evaluation 
and enhance the reputation of the 
Institution. 
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 (vi) A question having parts is to be evaluated 
and awarded partwise. 

 (vii) If an examinee writes an acceptable answer 
which is not given in the marking scheme, he 
or she may be awarded marks only after 
consultation with the head-examiner. 

 (viii) If an examinee attempts an extra question, 
that answer deserving higher award should 
be retained and the other scored out. 

 (ix) Word limit wherever prescribed, if violated 
upto 10%. On both sides, may be ignored. If 
the violation exceeds 10%, 1 mark may be 
deducted. 

 (x) Head-examiners will approve the standard 
of marking of the examiners under them only 
after ensuring the non-violation of the 
instructions given in the marking scheme. 

 (xi) Head-examiners and examiners are once 
again requested and advised to ensure the 
authenticity of their evaluation by going 
through the answers seriously, sincerely 
and honestly. The advice, if not headed to, 
will bring a bad name to them and the 
Institution. 

 

egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %    
 (i) vad-;kstuk dk mís'; ewY;kadu dks vf/kdkf/kd oLrqfu"B 

cukuk gSA vad-;kstuk esa fn, x, mÙkj-fcUnq vafre ugha 
gSaA ;s lq>kokRed ,oa lkadsfrd gSaA ;fn ijh{kkFkhZ us buls 
fHkUu] fdUrq mi;qDr mÙkj fn, gSa] rks mls mi;qDr vad 
fn, tk,¡A 
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 (ii) 'kq)] lkFkZd ,oa lVhd mÙkjksa dks ;Fkk;ksX; vf/keku fn, 
tk,¡A  

 (iii) ijh{kkFkhZ }kjk vis{kk ds vuq:i lgh mÙkj fy[kus ij mls 
iw.kkZad fn, tk,¡A 

 (iv) orZuhxr v'kqf);ksa ,oa fo"k;karj dh fLFkfr esa vf/kd vad 
nsdj izksRlkfgr u djsaA  

 (v) Hkk"kk&{kerk ,oa vfHkO;fDr&dkS'ky ij /;ku fn;k tk,A 
 (vi) eq[;-ijh{kdksa@mi-ijh{kdksa dks mÙkj&iqfLrdkvksa dk ewY;kadu 

djus ds fy, dsoy Marking Instructions/ 

Guidelines nh tk jgh gS] ;fn ewY;kadu funsZ'k esa fdlh 
izdkj dh =qfV gks] iz'u dk mÙkj Li"V u gks] ewY;kadu 
funsZ'k esa fn, x, mÙkj ls vyx dksbZ vkSj Hkh mÙkj lgh 
gks] rks ijh{kd] eq[;-ijh{kd ls fopkj-foe'kZ djds ml 
iz'u dk ewY;kadu vius foosd vuqlkj djsaA 

 

SECTION – A 

  1. (i) 140 = 2 × 2 × 5 × 7 1 

 (ii) 25   Ans. (C) 1 

 (iii) The zeroes are 0 and −2 1 

 (iv) Sum of zeroes 7
1

7
−=

−
=

−
=

a

b
 1 
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 (v) p ≠ 4  1 

 (vi) D = 0 (Zero)  1 

 (vii) 4710 =a  1 

 (viii) d = −6  1 

 (ix) The distance between two points is 8  1 

 (x) (0, 0) Ans. (C) 1 

 (xi) 1  Ans. (A) 1 

 (xii) 
5

3
  Ans. (C) 1 

 (xiii) 2πr  Ans. (B) 1 

 (xiv) The volume of cylinder = 770 3cm  1 

 (xv) P(win) = 0.38 1 

 (xvi) P(a king of red colour) 
26

1
=  1 

SECTION – B 

  2. Sol.  

 Using Euclid's division lemma, we get 

 867 = 255 × 3 + 102   1 

 255 = 102 × 2 + 51   1 

 102 = 51 × 2 + 0   1 

 ∴HCF (867, 255) = 51 
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  3. Sol.  

 The quadratic polynomial is  

 −
2x (sum of zeroes)x + product of zeroes 1 

 or  1
4

12
−− xx  

 or  414 2
−− xx    2 

  4. Sol.  

 The three digit numbers which are divisible by 7 
are 105, 117, 119, ……, 994. 

 a = 105, d = 7, na = 994   1 

 a + (n − 1)d = 994 

 105 + (n − 1)7 = 994  

 127
7

889
1 ==−n  

 ⇒ n = 128   2 

  5. Sol.  

 sec 4 A = cosec(A − 20°) 

 cosec (90° − 4A) = cosec(A − 20°) 1 

 ⇒ 90° − 4A = A − 20° 

 °=
°

=⇒ 22
5

110
A  

 ⇒ A = 22°   2 
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  6. Sol.   

Daily wages f x f ×××× x 

100-120 12 110 1320 

120-140 14 130 1820 

140-160 8 150 1200 

160-180 6 170 1020 

180-200 10 190 1900 

 50  7260 

2 

 ∴ Mean 2.145
50

7260
==

×
=

∑
∑

f

fx
 1 

SECTION – C 

  7. Sol.  

 Let cost of 1 ball and 1 bat are x and y 

respectively 

 So   7x + 6y = 3800   1 

 and 3x + 5y = 1750 

 Solve it by elimination  method, we get  

 x = 500,  y = 50   2 

 ∴ cost of 1 ball = ` 50   

 and cost of 1 bat = ` 500  1  
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  8. Sol.  

 Putting a
x

=
1

 and b
y

=
1

 

 We get 3a + 2b = 12              (i) 1 

      and 2a + 3b = 13             (ii) 

 Solving (i) & (ii), we get 

 a = 2, b = 3   2 

 And 
2

1
2

1
=⇒== x

x
a     

 and 
3

1
3

1
=⇒== y

y
b    1 

  9. Sol.  

 Let P(0, y) be the point on y-axis 

 ∴ PA = PB   1 

 2222 )3()04()5()06( yy −+−−=−+−  

 or   36 + 25 + 2y  − 10y = 16 + 9 + 2y  − 6y 2 

 or   4y = 36 

 or   y = 9 

 So the required point is (0, 9) 1 
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10. Sol.  

 Let points be A(3, 0), B(4, 5), C(−1, 4) and           

D(−2, −1), 

 321616)04()31( 22
=+=−+−−=AC  

    24= units 1 

 and 3636)15()24( 22
+=+++=BD   

    26= units 1 

 Area of rhombus BDAC ××=
2

1
 

                 2624
2

1
××=  

                 = 24 square units 2 

11. Sol.  

 r = 21 cm, θ = 60° 

 (i) Length of an arc rπ×
θ

= 2
360

 

                    cm2221
7

22
2

360

0
=×××

6
=  

2 

 (ii) Area of sector formed by the arc 2

360
rπ

θ
=  

  

                  2cm2312121
7

22

360

0
=×××

6
=  

2 
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12. Sol.  

 Total number of coins = 180 

 (i) P(` 1 coin) 
18

5

180

50
==                    2 

 (ii) P(not a 50 p coin) 
9

4

180

80
==                   2 

SECTION – D 

13. Sol.  

 Let the base be x cm, then height be (x − 7) cm 

and hypotenuse is 13 cm 

 By Pythagoras theorem 

  222 )13()7()( =−+ xx   1 

  169144922
=−++ xxx  

 or   06072
=−− xx    1 

  0605122
=−+− xxx  

  x(x − 12) +5(x − 12) = 0 

 ⇒ (x − 12) (x + 5) = 0 

 ⇒ x = 12    2 

 ∴ Base = 12 cm 

 and altitude = 12 − 7 = 5 cm 1 
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OR 

 Sol.  

 Let the speed of the stream by x km/h 

 ∴ Speed of boat upstream = (18 − x) km/h 

 and speed of boat downstream = (18 + x) km/h 

 The time taken to go upstream 
x−

=
18

24
 hours 1 

 and the time taken to go downstream  

x−
=
18

24
 hours 1 

 According to question, 

 1
18

24

18

24
=

+
−

− xx
 

 24(18 + x) − 24(18 − x) = (18 − x) (18 + x) 

 or    2x  + 48x −324 = 0   1 

 Using quadratic formula, we get 

 
2

12964848 2
+±−

=x  

 or  6
2

6048
=

±−
=x  or − 54 

 ∴ The speed of stream = 6 km/h 2 
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14. Sol.  

 2484 =+ aa  

 a + 3d + a + 7d = 24 

 or   2a + 10d  = 24               (i) 1 

 and 44106 =+ aa  

  2a + 14d  = 44              (ii) 1 

 Solving (i) & (ii), we get 

 d = 5 and a  = − 13   2 

 Hence the first three terms are : −13, −8 and −3 1 

15. Sol.  

 Height of tower AB = 50 m 

 Let the height of the building CD = h m  

 

1 
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 In ∆ ABC 

  °= 60tan
BC

AB
 

  3
50

=
BC

 

  
3

50
=⇒ BC    2 

 In ∆ DCB 

  °= 30tan
BC

DC
 

  
3

1

3

50
=

h
⇒ 

3

50

3

50

3

1
=×=h  

 Hence the height of building is 
3

50
m 2 

16. Sol.  

 Radius of hemisphere cm7
2

14
==  

 C. S. A. of hemisphere 22 rπ=  

                      77
7

22
2 ×××=   

                      2cm308=  2 
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 Total height of vessel = 13 cm 

 Height of cylinder = 13 − 7 = 6 cm 

 Inner surface area of cylinder = 2πrh  

                                 67
7

22
2 ×××=   

                                 2cm264=  2 

 ∴ Inner surface area of the vessel 

    = 308 + 264 

    = 572 2cm  1 

17. Sol.  

 Maximum frequency = 23 

 Modal Class = 35 − 45 

 Here l = 35, 1f  = 23, 0f  = 21, 2f = 14, h = 10 2 

 Mode h
fff

ff
l ×

−−

−
+=

201

01

2
 

   10
1421232

2123
35 ×

−−×

−
+=  1 

   10
11

2
35 ×+=  
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11

20
35 +=  

 or   Mode = 36.8 years.   2 

OR 

 Sol.   

Monthly 
Consumption 

f c.f. 

65-85 4 4 

85-105 5 9 

105-125 13 22 

125-145 20 42 

145-165 14 56 

165-185 8 64 

185-205 4 68 

1 

 34
2

68
==n  

 ∴ Median Class = 125 − 145 

 l = 125, n = 68, f = 20, c.f. = 22, h = 20 2 
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 Median h
f

fc
n

l ×

−

+=

..
2  

      20
20

2234
125 ×

−
+=   

      = 125 + 12 = 137 units. 2  
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